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 Question  Answer Marks AO Guidance 

7 (a)  23 + 6 × 22 − 2 − 30 =0 so (𝒙 − 𝟐) is a 

factor 

B1 1.1 Factor theorem must be used, and a concluding statement needed 

Statement might be at the start e.g 𝑓(2) = 0 ⇒ (𝑥 − 2) a factor 

 

e.g. Synthetic Division or Long Division is B0 

 

Must see evidence of the substitution- ‘show that’ so 

 e.g simply 𝑓(2) = 0  is B0                                          

    [1]   

7 (b)  (𝑥 − 2)(𝑥2 + 8𝑥 + 15)  M1 

A1 

 By inspection or from long division, allow sign errors only 

Fully correct linear × quadratic 

   (𝑥 − 2)(𝑥 + 5)(𝑥 + 3)  A1 1.1 Fully correct and fully factorised 

    [3]   

   Alternatively 

 

f(k) evaluated, where k is -3 and -5 

 

M1 1.1a Allow a slip with either but not both 

   (𝑥 + 3) 𝑜𝑟 (𝑥 + 5) identified as a factor 

 

A1 1.1  

   (𝑥 − 2)(𝑥 + 5)(𝑥 + 3)  A1   

8 (a)  Remove any data where #N/A is in the  

column, as there is no data available 

B1 2.4 LDS advantage       

Comments such as exclude 20/81 year old female are B0 as this is 

only an extract of the full set of data 

 

Must refer to N/A/missing data but accept ‘not available/non-

existent’ 

 

Remove data without a pulse reading is B0 as we could have 

missing BMI data too                                                                  
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    [1]   

8 (b)  (62.77, 84) ringed and no others B1 1.1 

 

    [1]   

8 (c)  No evidence of a linear relationship oe 

so unlikely to be reliable 

B1 2.2b Any comment relating to interpolation or extrapolation is B0 as 

we want a comment on the appropriateness of the model 

considering the scatter diagram 

 

Condone ‘there appears to be little correlation/weak positive 

correlation’ etc 

 

‘No/Zero correlation’ is B0 e.g the PMCC could be 0.1 etc 

    [1]   
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8 (d)  None of the pulse rates are that unusual so 

should not be removed 

B1 2.2b LDS advantage 

 

Need ‘no/keep’ and reason 

 

Condone ‘No as they are not outliers’           

 

Accept ‘Higher pulse rates are not uncommon’                                                              

    [1]   

9 (a)  0.1 + 0.3 + 𝑞 + 2𝑞 + 3𝑞 = 1  M1 1.2 Setting sum of values equal to 1                                                             

   𝑞 = 0.1  A1 1.1  

    [2]   

9 (b)  (0.1 + 0.3 + 0.1 + 0.2 =)  0.7 B1 1.1 Or 1 − 𝑝(𝑋 = 5)                                                         

    [1]   

9 (c)  0.1 × 0.3 seen or 0.03 seen M1 1.1                                                            

   0.1 × 0.3 + 0.1 × 0.3 = 0.06 A1 1.1 0.06 o.e 
6

100
 or 

3

50
 etc 

    [2]   

9 (d)  0.098314…correct to 2 or more sf      BC B1 1.1 By using e.g 𝑋~𝐵(50,0.3) and finding 𝑃(𝑋 = 17)                                               

    [1]   

 

 

 




